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The graph below was created using the data from the table provided.
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Example 1

Use the CPI below to answer each question.
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‘What is the base P& for the CPI? 2 00 1
b) In what year was the cost of the basket of goods about 90% of the base cost? I ?77

¢) What was the CPI in 19907 What does K\is mean?
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Describe the change in the CPI from 1990 to 1991. What dccﬁr%u notice about the line segment
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Describe the overall trend in the CPI and its significance.
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2. Use the graph from #1

a) Calculate the average annual rate of inflation from
1990 to 2006.
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b) Use your answer to part “a” to predict the CPI from

2010. Justify your prediction.
2006 - ’¢L$+ '(p\"'n Consumer Price Index

¢XxL9= 26 - Qe Lo
MO+ 26 =126 59 ‘

\
|
C") W l\a\j(" uau_\oL +_LC ZZM F— s —

CPT pe in 1A8S7
sxl.9= 4.5

?79—-9S= ¢3S

d)I-G +[\{ ’or\'<< ) -(: Jooo(s M°4 Services
n w85 7¢so \u‘\of wewld ba the
Prics of The seme things in 19502
79% of 450 | BE_ "

.74, X YUso 450 =
JBSS So {.oo ¢7q
2IxX4s0= X

435S, 50=x

CPI(2002-100)

Use an Index to Compare Cities

The 2006 UBS Pri dE . City Clothing Price Index
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report includes a comparison of Zurich 1156
clothing prices in 71 cities. The Oslo 1144
b : is th . in N York Dublin 97.5
asC Price 18 tne price 1m INEW YOrK. New York T00
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b) How do clothing prices in Zurich and Hong Kong compare to
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NOTE: There are other types of Indices that use a formula instead of a base number to describe

something about a place or person which then allows them to compare the data.
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